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1 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — — -
zhs 1.00 | 0.00 ~ 442 64.80 | A4t | 000 ~ 0.00| 1.68 7.39 zh s 1.00] 500 ~ 6.80 64.80 | ZhList | 5.00 6.80 | 1.68 7.39
9 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD — — — -
zhs 1.00| 000 ~ 441 64.61 | ZHLlAs | 000 ~ 0.00 | 1.72 7.56 zh s 1.00] 500 ~ 6.60 64.61 | ZhList | 5.00 6.60 | 1.72 7.56
3 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD — — — -
zhs 1.00 | 0.00 ~ 5.67 83.70 | #nL A4t | 000 ~ 0.00| 1.71 7.52 zhs 1.00] 500 ~ 9380 83.70 | Zh LISt | 5.00 9.80 | 1.71 7.52
4 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD — — — -
zh s 1.00| 000 ~ 3.74 5511 | Zn A4t | 000 ~ 0.00| 1.69 7.44 zh s 1.00] 500 ~ 540 55.11 | ZhList | 5.00 540 | 1.69 7.44
5 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD — — — -
zh s 1.00 | 000 ~ 352 5199 | ZHlust | 000 ~ 0.00| 1.69 7.45 zh s 1.00] 500 ~ 5.00 51.99 | Zh L5t | 5.00 500 | 1.69 7.45
100kN/mM%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zh s ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ ImFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ ImFRBRD
zh s ~ zhnLs ~ zh s ~ s
100kN/mM%#B 2% ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD
Zzh s ~ st ~ Zzh s ~ st
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